

## SYDNEY GRAMMAR SCHOOL



2015 Assessment Examination

## FORM VI

# **MATHEMATICS EXTENSION 2**

## Thursday 14th May 2015

## General Instructions

- Writing time 2 hours
- Write using black or blue pen.
- Board-approved calculators and templates may be used.
- A list of standard integrals is provided at the end of the examination paper.

## Total - 70 Marks

• All questions may be attempted.

## Section I – 10 Marks

- Questions 1–10 are of equal value.
- Record your solutions to the multiple choice on the sheet provided.

## Section II – 60 Marks

- Questions 11–14 are of equal value.
- All necessary working should be shown.
- Start each question in a new booklet.

## Collection

- Write your candidate number on each answer booklet and on your multiple choice answer sheet.
- Hand in the booklets in a single wellordered pile.
- Hand in a booklet for each question in Section II, even if it has not been attempted.
- If you use a second booklet for a question, place it inside the first.
- Write your candidate number on this question paper and hand it in with your answers.
- Place everything inside the answer booklet for Question Eleven.

## Checklist

- SGS booklets 4 per boy
- Multiple choice answer sheet
- Candidature 73 boys

Examiner MLS

#### **SECTION I - Multiple Choice**

Answers for this section should be recorded on the separate answer sheet handed out with this examination paper.

#### QUESTION ONE

The hyperbola  $\frac{x^2}{16} - \frac{y^2}{9} = 1$  has eccentricity: (A)  $\frac{5}{4}$ (B)  $\frac{4}{5}$ (C)  $\frac{4}{3}$ (D)  $\frac{3}{4}$ 

## QUESTION TWO

The derivative of  $x^2 \sin e^x$  is:

- (A)  $x(-e^x \cos e^x + 2\sin e^x)$
- (B)  $x(-xe^x\cos e^x + 2\sin e^x)$
- (C)  $x(x\cos e^x + 2\sin e^x)$
- (D)  $x(xe^x \cos e^x + 2\sin e^x)$

1

## **QUESTION THREE**

The primitive of  $\frac{e^x}{1+e^{2x}}$  is:

- $(\mathbf{A}) \quad \log_e(1+e^{2x})+C$
- (B)  $\frac{1}{2}\log_e(1+e^{2x})+C$
- (C)  $\tan^{-1} e^{2x} + C$
- (D)  $\tan^{-1} e^x + C$

#### **QUESTION FOUR**

The polynomial equation  $x^3 + 4x^2 + 2x - 1 = 0$  has roots  $\alpha$ ,  $\beta$  and  $\gamma$ . The polynomial equation with roots  $\alpha^2$ ,  $\beta^2$  and  $\gamma^2$  is:

- (A)  $x^3 12x^2 + 12x 1 = 0$
- (B)  $x^3 + 16x^2 + 4x + 1 = 0$
- (C)  $x^3 + 20x^2 4x + 1 = 0$
- (D)  $x^6 + 4x^4 + 2x^2 1 = 0$

#### **QUESTION FIVE**

Find  $\arg(z+w)$  given that z=i and  $w=\frac{1}{\sqrt{2}}(1+i)$ .

(A)  $\frac{3\pi}{8}$ (B)  $\frac{\pi}{4}$ (C)  $\frac{\pi}{3}$ (D)  $\frac{3\pi}{4}$  1

1

1

Exam continues overleaf ...

## QUESTION SIX

When  $x^4 - kx + 1$  is divided by  $x^2 + 1$  the remainder is 3x + 2. The value of k is:

(A) -1(B) -2(C) -3(D) -4

#### **QUESTION SEVEN**

The equations of the asymptotes to the hyperbola  $x^2 - 4y^2 = 4$  are:

- (A)  $y = \frac{1}{4}x$  and  $y = -\frac{1}{4}x$
- (B)  $y = \frac{1}{2}x$  and  $y = -\frac{1}{2}x$
- (C) y = 2x and y = -2x
- (D) y = 4x and y = -4x

#### **QUESTION EIGHT**

An object is fired vertically upwards from the surface of the earth. The acceleration due to gravity at height x above the earth's surface is  $\frac{-10}{(1+\frac{x}{R})^2}$  m/s<sup>2</sup>, where R is the radius of the earth in metres. Given that v m/s is the velocity, v<sup>2</sup> could be calculated by the integral:

(A) 
$$\int \frac{-10}{(1+\frac{x}{R})^2} dx$$
  
(B) 
$$\int \frac{20}{(1+\frac{x}{R})^2} dx$$
  
(C) 
$$\int \frac{-20R^2}{(R+x)^2} dx$$

(D) 
$$\int \frac{20R}{(R+x)^2} dx$$

1

1

#### QUESTION NINE

Form a cubic equation with roots  $\alpha$ ,  $\beta$  and  $\gamma$  given that  $\alpha\beta\gamma = 6$ ,  $\alpha + \beta + \gamma = 5$ and  $\alpha^2 + \beta^2 + \gamma^2 = 21$ .

(A) 
$$21x^3 + 5x^2 + 11x + 11 = 0$$

(B) 
$$5x^3 + 11x^2 - 5x - 6 = 0$$

- (C)  $x^3 5x^2 + 2x + 6 = 0$
- (D)  $x^3 5x^2 + 2x 6 = 0$

#### QUESTION TEN

The points P, Q and R represent the complex numbers p, q and r respectively. Given that q - p = i(r - p), triangle PQR is best described as:

- (A) Right angled isosceles with the right angle at P and PQ = PR.
- (B) Right angled isosceles with the right angle at Q and PQ = QR.
- (C) Right angled isosceles with the right angle at R and RQ = RP.
- (D) Right angled isosceles with the right angle at Q and PQ = PR.

End of Section I

Exam continues overleaf ...

1

#### **SECTION II - Written Response**

Answers for this section should be recorded in the booklets provided.

Show all necessary working.

Start a new booklet for each question.

#### **QUESTION ELEVEN** (15 marks) Use a separate writing booklet.

- (a) Consider the hyperbola defined by the parametric equations  $x = 2 \sec \theta, y = \tan \theta$ .
  - (i) Find the coordinates of the point P defined by  $\theta = \frac{3\pi}{4}$ .
  - (ii) Write down the Cartesian equation of the hyperbola.
- (b) Consider the ellipse  $9x^2 + 16y^2 = 144$ .
  - (i) Find the eccentricity of the ellipse.
  - (ii) Find the coordinates of the foci.
  - (iii) Find the equations of the directrices.
  - (iv) Write down the equation of this ellipse in parametric form.
- (c) It is given that 1 + i is a zero of  $P(z) = 2z^3 3z^2 + cz + d$ , where c and d are real numbers.
  - (i) Explain why 1 i is also a zero of P(z).
  - (ii) Factorise P(z) over the real numbers.
- (d) The roots of  $x^3 5x + 3 = 0$  are  $\alpha, \beta$  and  $\gamma$ .

Find a cubic polynomial with integer coefficients whose roots are  $2\alpha$ ,  $2\beta$  and  $2\gamma$ .

(e) An object of mass m kg moving horizontally experiences a resistive force of  $kv^2$  Newtons, where k is a positive constant and v is the velocity of the particle in metres per second. The object starts at the origin with an initial velocity of  $1 \text{ ms}^{-1}$ . Find an expression for the velocity v in terms of the displacement x.

|   | 1 |   |
|---|---|---|
| ſ | 1 | 1 |

1

1

Marks

|   | 1 |  |
|---|---|--|
|   | 3 |  |
| ſ | 2 |  |

| 3 |  |
|---|--|
|---|--|

**QUESTION TWELVE** (15 marks) Use a separate writing booklet.

(a)



The point  $P(a\cos\theta, b\sin\theta)$  lies on the ellipse  $\frac{x^2}{a^2} + \frac{y^2}{b^2} = 1$ . The tangent at P meets the two vertical tangents at the points Q and R. The two foci are S and S'.

- (i) Find the equation of the tangent at P.
- (ii) Find the coordinates of Q and R.
- (iii) Show that QR subtends a right angle at the focus S.
- (iv) Explain why QR is the diameter of the circle that passes through Q, R and S.

(b) Use the substitution 
$$t = \tan \frac{\theta}{2}$$
 to find  $\int \frac{1}{1 + \cos \theta - \sin \theta} d\theta$ .

(c) (i) Use the substitution  $u = \frac{\pi}{2} - x$  to show that

$$\int_{0}^{\frac{\pi}{2}} \frac{e^{\sin x}}{e^{\sin x} + e^{\cos x}} \, dx = \int_{0}^{\frac{\pi}{2}} \frac{e^{\cos x}}{e^{\sin x} + e^{\cos x}} \, dx$$

(ii) Hence evaluate 
$$\int_0^{\frac{\pi}{2}} \frac{e^{\sin x}}{e^{\sin x} + e^{\cos x}} dx.$$

| Γ | 2        | 1 |
|---|----------|---|
| ſ | <b>2</b> | 1 |
| Γ | 3        |   |
|   | 1        |   |
| _ |          |   |
|   | 3        |   |
| Γ | 2        | 1 |
| L | _        |   |
|   |          |   |

 $\mathbf{2}$ 

Marks

**QUESTION THIRTEEN** (15 marks) Use a separate writing booklet.

(a) (i) Show that if y = mx + k is a tangent to the hyperbola  $\frac{x^2}{a^2} - \frac{y^2}{b^2} = 1$ , then

$$m^2 a^2 - b^2 = k^2$$

(ii) Hence find the equations of the tangents from P(1,3) to the hyperbola

$$\frac{x^2}{4} - \frac{y^2}{15} = 1.$$

- (b) A particle of mass m kg falls from rest in a resistive medium. The resistance to motion is of magnitude mkv when the particle has velocity  $v \text{ ms}^{-1}$ . The particle reaches a terminal velocity of  $U \text{ ms}^{-1}$ . Taking downwards as the positive direction, let x metres be the distance fallen in t seconds.
  - (i) Show that the equation of motion of the particle is  $\ddot{x} = k(U v)$ .
  - (ii) Find an expression for time t as a function of velocity v.
  - (iii) Hence find, in terms of U and k, the time T seconds taken for the particle to attain half of its terminal velocity.
  - (iv) Find the distance fallen in this time.
  - (v) If the particle has reached seven eighths of its terminal velocity in 15 seconds, find the value of k.

| <b>2</b> |   |
|----------|---|
| <b>2</b> |   |
| 1        | 1 |

| 3 |  |
|---|--|
| 1 |  |

| Marks |
|-------|
|       |

3

QUESTION FOURTEEN (15 marks) Use a separate writing booklet. Marks



In the above diagram the hyperbola  $xy = c^2$  touches the circle  $(x - 1)^2 + y^2 = 1$  at the point Q, but intersects it nowhere else in the plane.

- (i) Prove that if the real number  $\beta$  is a repeated root of some polynomial equation P(x) = 0 then  $\beta$  is also a root of P'(x) = 0.
- (ii) Given that  $\beta$  is the x-coordinate of Q, show that  $\beta$  is a root of

$$x^2(x-1)^2 + c^4 = x^2.$$

- (iii) Show that the multiplicity of  $\beta$  is exactly 2.
- (iv) Find the value of  $\beta$ .

(a)

- (v) Explain why the other roots are complex.
- (vi) Hence, or otherwise, find the value of  $c^2$  and the complex roots.

#### Exam continues on the next page

Exam continues overleaf ...

1

1

1

(b) (i) Let 
$$U_n = \int (x^2 + c)^n dx$$
. 3

Use integration by parts to show that for constants c > 0 and n,

$$U_n = \frac{1}{2n+1} \left( x(x^2+c)^n + 2nc U_{n-1} \right).$$

- (ii) Hence, or otherwise, find  $\int \sqrt{(x^2+c)} dx$ .
- (iii) Consider the hyperbola  $\frac{x^2}{a^2} \frac{y^2}{b^2} = 1$  with eccentricity *e*. Show that the area **2** bounded by the axes, the right branch of the hyperbola and the line y = a is

 $\mathbf{2}$ 

$$\frac{a^3e}{2b} + \frac{ab}{4}\ln\left(\frac{e+1}{e-1}\right) \,.$$

## END OF EXAMINATION

## BLANK PAGE

The following list of standard integrals may be used:

$$\int x^n dx = \frac{1}{n+1} x^{n+1}, \quad n \neq -1; \quad x \neq 0, \text{ if } n < 0$$

$$\int \frac{1}{x} dx = \ln x, \quad x > 0$$

$$\int e^{ax} dx = \frac{1}{a} e^{ax}, \quad a \neq 0$$

$$\int \cos ax dx = \frac{1}{a} \sin ax, \quad a \neq 0$$

$$\int \sin ax dx = -\frac{1}{a} \cos ax, \quad a \neq 0$$

$$\int \sec^2 ax dx = \frac{1}{a} \tan ax, \quad a \neq 0$$

$$\int \sec^2 ax dx = \frac{1}{a} \tan^{-1} \frac{x}{a}, \quad a \neq 0$$

$$\int \frac{1}{a^2 + x^2} dx = \frac{1}{a} \tan^{-1} \frac{x}{a}, \quad a \neq 0$$

$$\int \frac{1}{\sqrt{a^2 - x^2}} dx = \sin^{-1} \frac{x}{a}, \quad a > 0, \quad -a < x < a$$

$$\int \frac{1}{\sqrt{x^2 - a^2}} dx = \ln \left(x + \sqrt{x^2 - a^2}\right), \quad x > a > 0$$

$$\int \frac{1}{\sqrt{x^2 + a^2}} dx = \ln \left(x + \sqrt{x^2 + a^2}\right)$$
NOTE : 
$$\ln x = \log_e x, \quad x > 0$$



#### SYDNEY GRAMMAR SCHOOL



2015 Assessment Examination FORM VI MATHEMATICS EXTENSION 2 Thursday 14th May 2015

- Record your multiple choice answers by filling in the circle corresponding to your choice for each question.
- Fill in the circle completely.
- Each question has only one correct answer.

| Question   | One                    |      |      |
|------------|------------------------|------|------|
| A 🔿        | В ()                   | С () | D () |
| Question ' | Γwo                    |      |      |
| A 🔿        | В ()                   | С () | D () |
| Question ' | Three                  |      |      |
| A 🔿        | В ()                   | С () | D () |
| Question 1 | Four                   |      |      |
| A 🔿        | В ()                   | С () | D () |
| Question 1 | Five                   |      |      |
| A 🔿        | В ()                   | С () | D () |
| Question S | Six                    |      |      |
| A 🔿        | В ()                   | С () | D () |
| Question S | Seven                  |      |      |
| A 🔿        | В ()                   | С () | D 🔘  |
| Question 1 | $\operatorname{Eight}$ |      |      |
| A 🔿        | В ()                   | С () | D () |
| Question 1 | Nine                   |      |      |
| A 🔿        | В ()                   | С () | D () |
| Question ' | Гen                    |      |      |
| A 🔿        | В ()                   | С () | D () |

MC. Form VI May Ass Extension II 1. b2=a2(e2-1)  $9 = 16(e^{2}-1)$ e" = 76 +1 = 25 e= 5 A 2.  $y = x^2 \sin e^{2x}$   $\frac{dy}{dx} = x^2 e^2 \cos e^2 + 1x \sin e^2$ =  $2(x,e^{x},use^{x}+2sine^{x})$ . ferra de  $= -\int \frac{e^{\chi}}{1+(e^{\chi})^{2}} dx$ = ton'ez +c \_ D. replace x with Vx 4.  $(\sqrt{x})^3 + 4(\sqrt{x})^2 + 2\sqrt{x} - 1 = 0$ · 152, x -1 4x + 2, 12 -1 =0  $V_{X}(x,t_{2}) = (1-4X)$ x (x+4x+4) = 16x- 8x+1 x2 + 4x + 4x = 16x2- 8x +1 x - 12x + 12x -1=0 . A

Q5.  $2 = i = \cos \frac{\pi}{2}$  $\omega = \frac{1}{2\pi}(1+i) = \cos \frac{\pi}{4}$ arg (2+cu) = = = + = .  $=\frac{3\pi}{8}A$ Q6. 6.  $x^{2} - 1$   $x^{2} + 0x^{2} - bx + 1$   $x^{4} + x^{2}$   $-x^{2} - bx + 1$  $-\chi^2$   $-b\chi$  +250 - hx+2 = 3x+2 0 SO B = - 3. Q7, y== t.22 B.  $QS. = \frac{d(t_1)}{dx} = \frac{-10}{(1+\frac{1}{2})^2}$ ±02 = -10 [-1 doc.  $U^{\star} = = \int \frac{-10}{(1+2\xi)^{\star}} dJL$ 

 $V^{T} = \int \frac{-20R^{2}}{(R+2\epsilon)^{2}} d\epsilon$ C Q9. (x+p+2)= x+p+2+2(4p+25+p+) 25 = 21 + 2 (dB + 25 + p)) dB + 25 + p3 = 2. 23-52 +22-6 = 0 010. partie R

QII x=2 seco, y= don 0 (a)1D x = 2 dec 34 = 2 (e) 3.4 -452 = -202 y = Jon 34 = - Jon 4 Pis (-202,-1) an = 4 secto y- Jour D. (ii) I = secto (1+touro= recro) Acu'o - tern 0 = 1 X2 - y2 = 1  $\frac{9x^2}{144} + \frac{16y^2}{144} = 1 \implies \frac{2c^2}{16} + \frac{44}{4} = 1$ (b)(i)  $b^2 = a^2(1-e^2)$ a = 4 $9 = 16(1-e^{-1})$  $e^{-1} = 1-\frac{2}{6}$ 6=3 = 76 Charles I.  $e_1 = \frac{\sqrt{2}}{4}$ 

(ii) ac = 17. four one (07,0) and (-U7,0)  $|||) = \frac{16}{15} = \frac{1607}{5}$ Derectives are X= 16 or 1605 1 and  $\chi = -\frac{16}{\sqrt{2}}$  or  $-\frac{16\sqrt{2}}{7}$ . |N| = 4000V y = 3SIND c). (1) The coefficients are real so the complex zeroes occess in conjugate pairs, z+i = z-é (1)P(2) = 223-322+02+0 = (Z-(1+2))(Z-(1-2)) (aZ+6). = (z2 - 22+2)(az+6) = a 23 - (2a+6) 27 + (2a-2b) 2+2b = 223-322 +CZ +d. V  $50 \ a = 2, \ 2a - b = 3$ b = 1C= 2a-2b and d= 2b =2 =2 P(Z) = (Z2-22+2)(22+1)

d. 23-506+3 2, 3, 8. Method l let x = m.  $x^{3} - 5x + 3 = (\frac{m}{2})^{2} - 5\frac{m}{2} + 2$ = m2 - sm + 3 22-526 12 Swing x2 - 20x +24 =0.V 51  $\frac{Method 2}{x\beta + x = 0}$   $x\beta + x = + x = -5$   $x\beta + x = -3$ {~ Let ver polynomial be x + bx + cx + d  $-b = 2\lambda + 2\beta + 2\delta$ = 0C = (2x)(2p) + (2x)(2x) + (2p)(2x)= 4(2p + xx + px)= -20-----····etc.

Mác = - bur 0) v du = - k v2 due = - le v- $\frac{du}{du} = -\frac{M}{R} \frac{d}{du}$  $\chi = -\frac{m}{R} \int \frac{1}{2} dv$ = - in luv + C need to  $\chi=0, U=1, O=O+C = DC=D$ Show C=0 SO RE-M hov 1 lov = Boc 50 -m $v = e^{-bx}$ 

Q Q12. (a) S x2 + 42=1. Placeso, bsino) (1) greations 2x + 24 dy =0  $\frac{dy}{dx} = \frac{-2x}{a^2} \times \frac{b^2}{2y}.$ = - 62 24.  $m = -b^2 a \cos \theta$ at P,  $= -\frac{b}{a} \frac{a}{\sin \theta}$ targent at P y - bsing = -b cood (x - augo)'ysing - bsing = -b corox + bang. ysing + buse x = b(sing tues ) SIND 23. + COD 2 = 1 

(i) At Q, x = a $wo + y_{sing} = 1$ y = b(1 - cos)sing 181 At R,  $\alpha = -\alpha$ , at 0, x=a y sing - cero = 1 R, x=-a y = b(1 + cro)sing Very coord. Sis (ae, o) (5 is (ae, o) (a, b(1+uno)) (a is (+a, b(1-ano)) sino) UI)  $= \frac{b(1-\cos\theta)}{a(1-\epsilon)\sin\theta}$ b(1-uso) sino Mas= a-ae b(1+uso) MRS = = b(1+ cool aute)sing. SIND -a-ae  $\frac{b(1+cepo)}{sing}/$ b (1-uso) SING MRS × MOS = a(1-2) 620 vou b'=a~(1-e~). ------a-(1-e-)

=1 / needs breat (ren). So RSLOS as required 10) the angle in a semicurcle war in right angle, RQ is subtendenge a right angle at S.  $(\mathbf{y})$ .

 $t = \int \frac{1}{2} d\theta = \frac{1}{2} d\theta$ b) d9. 1- uno -sino = 2 (1+ t2) do  $\frac{-2\sqrt{+x}}{1+x^2} = d\Theta$ 1+ 1-EL - 2E 1+EL 1+ 1+EL - 1+EL 2dt 2 dt 1+t'+ (1-tr)-2t 2-2t P-1-dt -ln(1-t) + C- --ln(1-ton2)+c -

 $u = \frac{1}{2} - \frac{1}{2} du$  $\begin{array}{c} c \end{pmatrix} \cdot \\ 1 \end{pmatrix} \begin{pmatrix} \overline{z} \\ e^{S(H)2L} \\ e^{$ エモの X= I-u SINX = CEDIL = le costi - du ecosti sinte - du e + e cesse = sin il. = C eusu eusu du eusu te = { event doc, sence we have a cosoc sind doc, defente inlignal  $|1\rangle \int_{\frac{e}{e^{\sin x} + e^{\cos x}}}^{\frac{1}{2}} dx = \frac{1}{2} \int_{\frac{e}{e^{\sin x} + e^{\cos x}}}^{\frac{1}{2}} \frac{e^{\cos x}}{e^{\sin x} + e^{\cos x}} + \frac{e^{\cos x}}{e^{\sin x} + e^{\cos x}} dx$ = 2 J e + e cosol e + e doc. V = ESI doc = 14

13  $\frac{x^2}{a^2} - \frac{y^2}{b^2} = 1$ , y = mol+k. (a) '1) an (math) =1 Vat the pt of intersution  $\frac{x^2}{a^2} - \frac{m^2 c^2 + 1 m x k}{b^2} + k^2 = 1$ 2°a- a (m2 + 2m2 k + k-) = a - bxar-amar-20 mxk-ak - abx (b-am) - 2a mak - a (b-+6) = 0. Tangent so A=0 (2a~mbr - 4(b-am)(-a~k-ab) =0 4a" mik- 46-b"ark- ab"+ a" b"m + 46°arkr = - 4arb4 + 4a4 mrb2 chets R= = am -62 ewand I effi correct beet get m= b'x (ii) tangent is y=mx+k at (1,3) b = 3-mI Sa using (1,3) in y=mx+k So b2= q-6m+m2 But br=am2-62 from(i)

50 b2 = 4m2-15 L 9-611+11- = 411-15 311-1611-24=0 mi-tum-8=0 (min) (m-2) =0 M= -4 50 2 m=-4 -> b=> tangent is M=-42+7 m=2 => k=1 tangaut is y=rati

Q13, Inko b(i)Tpositive x=0 Img  $m \dot{x} = mg - mbv.$  /.  $\dot{x} = g - bv$ as ジ >0, v ~ g or ジ=0, v=U 50 U===  $\dot{\alpha} = k(\mathcal{Z} - v) \\ = k(v - v)$  $\frac{11}{1100} \frac{dv}{dv} = k(v - v)$ It = to (U-U) (dt = - 7 ( -- dv v t=-to [ ln (U-W] ]0 = - k [ ln p-v1 - ln IV] = to enter (ii) u = 5U, t = T = ln2N) volu = k (U-v) doc = to U-v.

 $\int_{0}^{\infty} d\omega = \frac{-1}{R} \int_{0}^{\infty} \frac{-\upsilon}{\upsilon - \upsilon} d\upsilon \qquad \checkmark$  $x = -\frac{1}{k} \int_{0}^{u} \frac{u - v}{u - v} - \frac{u}{u - v} du.$ = - th f 1 + U -1 du. V =- to + U ln/U-U/ ]2 = - \$ [v + U ln 1 u- v1 - (0 + U ln U]] = - the 2v + Ulu / - v/ abon v= 4 x=-友気=+Uen(空)]  $= -\frac{1}{2} \left( \frac{1}{2} + \frac{1}{2} + \frac{1}{2} \right) \qquad a_{12} = -\ln 2.$ =  $\frac{1}{2} \left( \ln 2 - \frac{1}{2} \right) \qquad \checkmark$ v) alhen t=15, ひ= 言し t= the ln ( U-30 ( 15 = \$ ln 8 1/ k = lus = 3ln2 = fln2.

Old  
S(C) if 
$$\beta$$
 is a repeated not of  $f(x)=0$ , then  $(x-p)$  is a factor of  
multiplicity at least two, i.e.  $(x-p)^2$  is a factor of  $f(x)$ .  
Let  $f(x) = (x-p)^2 Q(x)$  for some polynomial  $Q(x)$ .  
Then  $f'(x) = 2(x-p) Q(x) + (x-p)^2 Q'(x)$   
 $= (x-p) [2Q(x) + (x-p) Q'(x)]$   
So  $x-\beta$  is a factor of  $f'(x)$ .  
Thus  
 $f'(\beta) = (p-p) [2Q(p) + (p-p) Q'(p)]$   
 $= 0$   
Let  $\beta$  is a root of  $f'(x)=0$ .  
Let  $(x-1)^2 + y^2 = 1$  (0)  
and  $xy = ct$  (2)  
 $k^2 Q$  gives  
 $k^2(x-1)^2 + x^2y^2 = x^2$   
but from (0)  
 $x^2y^2 = c^4$   
hence  
 $x^2(x-1)^2 + c^4 = x^2$   
(Liv) Let  $f(x) = 1/(x-1)^2 + c^4 - x^4$   
 $= x^4 - 2x^2 + c^4$   
 $f'(x) = 1/(x-1)$ 

P<sup>(1</sup>(4) =0 has out 
$$\lambda = 3,3$$
  
By infection, neither is a root of  $P(k)$  is  $c^{2} > 0$   
Hence  $P(k)$  has no root of multiplicity 3 or more.  
But it does have a not of multiplicity 2, since the hyperbole is  
tangent to the crise at a (so the multiplicity of  $\beta$  is at least 2)  
 $\beta$  mult be crost of  $P(k) = 0$  AND  $P(k) = 0$ .  
Note of  $P(k) = 0$  are given by  
 $2k^{2} (2k-3) = 0$   
 $k = 3$ .  
(iv)  $P(k)$  is degree 4, hence it has exactly 4 roots to  $P(k) = 0$  (parisly  
reflected). Since the root  $2 = \beta$  is a double root, there must be two  
more roots. Since the Graph do not interest any where else is the  
real glues (gives), the roots must be complex. (indeed, they  
must be complex conjugates).  
(iv)  $Since P(\beta) = 0$   
 $k^{4} - 2k^{2} + k^{4} = 0$  when  $k = \frac{2}{2}$   
 $\left(\frac{2}{2}\right)^{4} - 2\left(\frac{2}{2}\right)^{3} + c^{4} = 0$   
 $c^{4} = \frac{27}{8}(2-\frac{3}{2})$   
 $= \frac{27}{16}$   
 $c^{2} = +\sqrt{\frac{11}{16}}$   
 $c^{2} = +\sqrt{\frac{11}{16}}$ 

$$\begin{aligned} \left| e^{t} + the rooth dt \quad \mathcal{P}(n) = 0 \quad be \quad \frac{3}{2}, \frac{3}{2}, d, d \right| \vec{d} \\ \text{Then} \\ \frac{3}{2} + \frac{3}{2} + d + \vec{u} = 2 \quad (sum of the rooth) \\ d + \vec{d} = -1 \\ 2 \quad fe(d) = -1 \\ \text{Re}(d) = -1 \\ \text{Re}(d) = -\frac{1}{2} \end{aligned}$$

$$\begin{aligned} \text{also} = \frac{3}{4} \\ \text{roote there } d\vec{d} = |d|^{1}, s_{0} \\ \text{Re}(d)^{2} = \frac{3}{4} \\ \vec{d} = \frac{3}{4} \\ \text{roote there } d\vec{d} = |d|^{1}, s_{0} \\ \text{Re}(d)^{2} = \frac{3}{4} \\ \vec{d} + 1 \\ \text{in}(d)^{2} = \frac{3}{4} \\ \text{Im}(d)^{2} = \frac{3}{4} \\ \text{Im}(d)^{2} = \frac{3}{4} \\ \text{Im}(d)^{2} = \frac{1}{2} \\ \text{Im}(d)^{2} = \frac{1$$

$$\int_{0}^{20} U_{n} = \chi (\chi^{L} + \zeta)^{n} - 2nU_{n} + 2n CM_{n-1}$$

$$U_{n} (1 + 2n) = \chi (\chi^{L} + \zeta)^{n} + 2n CM_{n-1}$$

$$U_{n} = \frac{1}{2n+1} \left\{ \chi (\chi^{L} + \zeta)^{n} + 2n CM_{n-1} \right\}$$

$$(W = \frac{1}{2n} \sum_{n=1}^{2} \frac{1}{2n(\chi^{L} + \zeta)^{n}} + 2n CM_{n-1} \right\}$$

$$(W = \frac{1}{2} \sum_{n=1}^{2} \frac{1}{2n(\chi^{L} + \zeta)^{n}} + \frac{1}{2n(\chi^{L} + \zeta)^{n}} + 2n CM_{n-1} \right\}$$

$$= \frac{1}{2} \chi (\chi^{L} + \zeta)^{n} + \frac{1}{2} C \int \frac{1}{12^{L} + \zeta} dx$$

$$= \frac{1}{2} \chi (\chi^{L} + \zeta)^{n} + \frac{1}{2} C \int \frac{1}{12^{L} + \zeta} dx$$

$$= \frac{1}{2} \chi (\chi^{L} + \zeta)^{n} + \frac{1}{2} C \ln (\chi + \chi^{L} + \zeta)^{n} (6nn + he Supplied + \frac{1}{2} \chi (\chi^{L} + \zeta)^{n} + \frac{1}{2} C \ln (\chi + \chi^{L} + \zeta)^{n} + \frac{1}{2} C \ln (\chi + \chi^{L} + \zeta)^{n} + \frac{1}{2} C \ln (\chi + \chi^{L} + \zeta)^{n} + \frac{1}{2} C \ln (\chi + \chi^{L} + \zeta)^{n} + \frac{1}{2} C \ln (\chi + \chi^{L} + \zeta)^{n} + \frac{1}{2} C \ln (\chi + \chi^{L} + \zeta)^{n} + \frac{1}{2} C \ln (\chi + \chi^{L} + \zeta)^{n} + \frac{1}{2} C \ln (\chi + \chi^{L} + \zeta)^{n} + \frac{1}{2} C \ln (\chi + \chi^{L} + \zeta)^{n} + \frac{1}{2} C \ln (\chi + \chi^{L} + \zeta)^{n} + \frac{1}{2} C \ln (\chi + \chi^{L} + \zeta)^{n} + \frac{1}{2} C \ln (\chi + \chi^{L} + \zeta)^{n} + \frac{1}{2} C \ln (\chi + \chi^{L} + \zeta)^{n} + \frac{1}{2} C \ln (\chi + \chi^{L} + \chi^{L} + \zeta)^{n} + \frac{1}{2} C \ln (\chi + \chi^{L} + \chi^{L} + \zeta)^{n} + \frac{1}{2} C \ln (\chi + \chi^{L} + \chi^{L} + \zeta)^{n} + \frac{1}{2} C \ln (\chi + \chi^{L} + \chi^{L} + \zeta)^{n} + \frac{1}{2} C \ln (\chi + \chi^{L} + \chi^{L} + \zeta)^{n} + \frac{1}{2} C \ln (\chi + \chi^{L} + \chi^{L} + \chi^{L} + \chi^{L} + \zeta)^{n} + \frac{1}{2} C \ln (\chi + \chi^{L} +$$

$$= \frac{a^{3}e}{2b} + \frac{1}{4} abln \frac{(1+e)^{2}}{(e-1)(e+1)}$$

$$= \frac{a^{3}e}{2b} + \frac{1}{4} abln \frac{1+e}{e-1}$$

as required.